Run 1476 Scans 1-16 Charges 0.00-3.00fC Module 0 Stream 1

pO 6 +|p.462 Gain chip 0 Gain chip 1 Gain chip 2
pl .68 +-P.334

Response Curve chip3 [po  =87.61 +fp.oc|Response Curve chip 4 [po = 85.93 +Jp.oc|Response Curve chip ') +g. Gain chip 3 Gain chip 4 Gain chip 5
pl  =54.25+p.1 pl  =54.25+[p.2¢ pl  =5115+J.

Output Noise chip 0 Output Noise chip 1 Output Noise chip 2 Input Noise chip 0 Input Noise chip 1 Input Noise chip 2

Output Noise chip 3 Output Noise chip 4 Output Noise chip 5 Input Noise chip 3 Input Noise chip 4 Input Noise chip 5




